
s  C3 15400000

1 sGof k|f=la= b]lv l;/xf yfgf rf}s ;Dd hfg] 2 g+=;*s lk=l;=l; ug]{ 2500000

2 hfu]Zj/ nfnsf] 3/ b]vL j8f g+=  $ sf] l;df  - /df}n ufp_ ;Dd ;8s lk=l;=;L= ug]{ sfo{ 2500000

3  /df}n rf}s b]vL klZrd j8f g+=%sf] l;df  - dfgk'/ ufp_ ;Dd ;8s lk=l;=;L= ug]{ sfo{ 3000000

4  s]bf/ leGbaf/sf] 3/ b]vL pQ/ gfu]Zj/ dl/ssf] 3/ x'b} uPsf] dlx;f]yf ufpsf] j ;8s lk=l;=;L= ug]{ sfo{ 2500000

5 k'jL{ l/Ë /f]8 cGtu/ut lblnk 7fs'/sf] 3/ b]lv klZrd cfld{ SofDk x'b} @ g+= ;8s ;Ddsf] ;8s PCC ug]{ sfo{ 2400000

6 dlx;f]yf d';x/L b]vL k"j{ / dlx;f]yf d';x/L b]vL klZrd d'g]Zj/ ofbjsf] 3/ hfg] ;8s lk=l;=l;= sfo{ 2500000

v  :yfgLo oftfoft tyf k"jf{wf/ If]qut sfo{qmdaf6 ;+rfng x'g] of]hgfx? M–  2200000

k"jf{wf/ lgdf{0f 1430000

1 l;/xf ldr}{of ;8s b]vL s7sf]njf ;Dd gof ;8s lgdf{0f ug]{ sfo{ 430000

2 k"j{ 6f]nsf] d:hLb b]vL gGx]sf]] 3/ / d':tkmfsf] 3/ ;Dd / gf]dfgsf] 3/ b]vL hlx/sf] 3/ ;Dd   ;8s PCC ug]{ sfo{ 1000000

n}lËs ;dtf / ;fdflhs ;dfj]zL / ul/jL Go"lgs/0f ;DaGwL sfo{qmd M–

-s_ dlxnf 220000

1 dlxnfx? nfO{ g]t"Tj lasf; tflnd 110000

2 blnt tyf ;'Ts]/L  dlxnfx? nfO{ vf]k sfo{qmd ,le6fldg P ,kf]lnof] yf]kf cfbL ;DaGwdf hgr]tgfd'ns tflnd 110000

-v_ afnaflnsf 220000

1 afn snax? Ifdtf lasf; sfo{qmd 100000

2 hf]]lvddf k/]sf lszf]/ lszf/L x?nfO{ l;k lasf; tyf cfo cfh{g sfo{qmd 120000

-u_ cGo lakGg ju{ 330000

1  ;a}hhftsf lakGg au{sf nfuL nf]s ;]af cfof]usf] tof/L sIff 150000

2  ;a}hhftsf lakGg au{sf nfuL lzk d'ns nflnd  180000

u gu/kflnsf cg'bfg af6 ;+rfng x'g] of]hgfx?  M – 4741000

k"jf{wf/ lgdf{0f 3080000

1 kf/:kl/s sf]if -Matching Fund _ 2080000

l;rfO{sf] nflu s'nf] lgdf{0f g=kf=jf=g+= &,* / ( j8fdf 1000000

2

n}lËs ;dtf / ;fdflhs ;dfj]zL / ul/jL Go"lgs/0f ;DaGwL sfo{qmd M– 1661000

#NAME? 475000

1 v'nf lbzf d'St cleofgsf nfuL hgr]tgf d'ns sfo{qmd 325000

2 k|hgg :jf:yo ;DaGwL cled'vLs/0f 150000

-v_ afnaflnsf 475000

1 afnaflnsfsf] nfuL sf]if :yfkgf 300000

2 gu/ If]qsf afnaflnsfsf] cled'vLs/0f tflnd 175000

-u_ cGo lakGg ju{ 711000

1  nfu' cf}ifwL ;DaGwL cled'vLs/0f 100000

2 Psn dlxnfsf] nfuL lzkd'ns tflnd 150000

3 af; af6 df]9f agfpg] tflnd tyf /fh ld:qL 8sdL{ tflnd 150000

4 :jf:yo lzla/ ;+rfng tyf ;xof]u sfo{qmd 150000

5 snf ;flxTo tyf ;+:s[tL k|j4{g 161000

3 :yflgo lasfz z'Nsaf6 ;+rfng x'g] of]hgfx? M– 6341500

k"jf{wf/ lgdf{0f 4100000

1 k+rfot ejg b]vL levf/L d08nsf] 3/ ;Dd ;8s lk=l;=l;= ug]{ sfo{{ 1000000

2 ;lndsf] 3/ b]vL cf/=l;=l;= gfnf ;Dd kSsL gfnf lgdf{0f sfo{ 1000000

3 ug]z s'dL{sf] 3/ b]vL k"j{ hfg] ;8s lk=l;=l;=ug]{ sfo{ 1000000

l;/xf gu/kflnsf,l;/xf

  cf=j= )&!÷)&@ df ;+rfng x'g] of]hgfx?



4 uf]8Lof8L 6f]n b]vL 5f]6sL 6f]n hfg]  ;8s lk=l;=l;= ug]{ sfo{{ 1100000

n}lËs ;dtf / ;fdflhs ;dfj]zL / ul/jL Go"lgs/0f ;DaGwL sfo{qmd M– 2241500

dlxnf 631500

dlxnfx?nfO{ n3'laQ tflnd 100000

dw]zL,d':nLd lk58f au{sf dlxnf x?sf] ;fdflhs Idtf lasf; 100000

of}lgs tyf cNk ;+Vos clwsf. Tyf Idtf lasf; 100000

;a}hftsf dlxnf x?nfO{ cGo lzk lasfz tflnd –Ao"6L kfn{/,l;nfO{ s6fO{, d}gatL cu/atL 331500

afnaflnsf 635000

1 gu/ If]qsf ;fd'bflos lawfnodf kmlg{r/ 635000

cGo lakGg ju{ 975000

1  ;a} hft tyf au{sf nfuL zf}rfno lgdf{0f ÷ Matching Fund 625000

2 ;f;s[lts tyf k'/ftflTjs dxTjsf P]]ltxfl;s k'jf{wf/ ;+/If0f 350000

ª ;8saf]8{ g]kfn af6 ;+rfng x'g]  of]hgfx? M – 2750000

2 x'nfsL ;8s cGt/ut a8]/jf a;lj§f rf}s glhssf] 6f]ndf laleGg ;8s dd{t ;'wf/ 500000

3 a]rg d'lvofsf] 3/ bvL sdnf afw ;Dd  / 1fgL v8sf / kf08a ofbjsf] 3/ ;Dd ;8s dd{t ug]{ sfo{ 500000

4 l;/xf ahf/sf] d'Vo ;8ssf] bfof afof k]6L dd{t sfo{ 500000

5 afw b]lv dxfla/sf] 3/x'b} klt{ ;Dd ;8s dd{t sfo{  500000

6 l;/xf yfgf rf}s b]vL dvgfxf ;Ddsf] l/Ë /f\8 dd{t ;'wf/ 750000

r gu/kflnsf sf]if af6 ;+rfng x'g]  of]hgfx? M – 3850000

1 k|df]bsf] uf5L b]lv lagf]bsf] 3/ x'b}  a;la§f ;8s  ;Dd ;8s dd{t sfo{  300000

2 /]8s|z b]vL znx]; d+lb/sf] kfv/L x'b} @ g+ ;8s ;Dd ;8s dd{t sfo{ 350000

3 k|sf]k Aoa:yfkg ;DalGw sfo{ 300000

4 ;8s alQ Aoa:yfkg tyf dd{t ;'wf/sfo{ 100000

5 v]n s'bsf nfuL laleGg ;+:yf x? nfO{ ;xof]u 76000

6 g=kf=sf laleGg ;8s x? dd{t sfo{ 500000

7 d]zg/L cf}hf/ 100000

8 ;+:yfut cg'bfg 100000

9 gu/kflnsf s+=P= nfO{ cg'bfg 31000

10 lasf; lgdf{0f ;]jf 600000

11 kf/:k/Ls sf]if 843000

12 sfof{no k|d'vsf] lgaf; lgdf{0f 500000

13 kmlg{r/ v/Lb 50000

5 cGo /fhZj af8 kmf8 af6 ;+rfng x'g]  of]hgfx? M – 1650000

sfof{no k|d'vsf] lgaf;sf] nflu  -ejg_ lgdf{0f sfo{ 650000

znx]; kf]v/Lsf] 3f6 lgdf{0f sfo{ 1000000

s'n hDdf -s+v+u+3+ª+ +r++ +5 _ 36932500
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